
 

 

SPECTRA CLASSES 

SAMPLE PAPER (2024-25) 

CLASS 07 - SOCIAL SCIENCE 

 
Time Allowed : 180 mins         MM: 80 

General Instructions: 
All question are compulsory 

• Section A 1-25 one mark each 
• Section B 26-34 two mark each 
• Section C 35-38 three mark each 
• Section D 39-43 Four mark each 
• Section E 44 Five mark 

 

 Section A  

1 Who was the famous invader of Mughals? 

a) Harshavardhana 

b) Tughluqs 

c) Akbar 

d) Genghis Khan 

[1] 

2 Which Phrase from the following defined the relationship between the king 
and his subjects? 

a) Circle of Loyalty 

b) Circle of Confidence 

c) Circle of Administration 

d) Circle of Justice 

[1] 

3 What does the term Mansab mean? 

a) Position or rank 

b) Tax 

c) Rule 

d) Land 

[1] 

 . 



 

 

4 Who wrote the biography of Humayun? 

a) Akbar 

b) Abul Fazal 

c) Gulbadan 

d) Jahangir 

[1] 

5 The Gonds were founding great numbers across the present -  day states of: 

a) Chhattisgarh, Madhya Pradesh, Maharashtra, and Uttar Pradesh 

b) Chhattisgarh, Madhya Pradesh, Maharashtra, and Andhra Pradesh 

c) Chhattisgarh, Assam, Gujarat and Uttar Pradesh 

d) Chhattisgarh, Assam, Gujarat and Andhra Pradesh 

[1] 

6 Nathpanthis, Siddhas and Yogis believe in the following ideas -   

a) All of these 

b) They advocated intense training of the mind and body through practices like 
yogasnas, breathing exercises, and meditation 

c) To them, the path to salvation lay in meditation on the formless Ultimate 
Reality and the realisation of oneness with 

d) They advocated renunciation of the world 

[1] 

7 Which waterfall of the following is situated in North America? 

a) Victoria 

b) Jog 

c) Angel 

d) Niagara 

[1] 

8 Insolation stands for: 

a) Internal sun radiation 

b) Internal solar radio 

c) Incoming solar radiation 

d) Incoming sun radio 

[1] 



 

 

9 The average salinity of the oceans is ________. 

a) 65 parts per thousand 

b) 55 parts per thousand 

c) 45 parts per thousand 

d) 35 parts per thousand 

[1] 

10 According to our Constitution, it is the primary duty of the government to 
ensure 

a) The welfare of the women and provide health care facilities in urban areas 

b) The welfare of the women and provide health care facilities to all 

c) The welfare of the doctors and provide health care facilities to in rural areas 

d) The welfare of the people and provide health care facilities to all 

[1] 

11 Why didHakim Sheik have to spend so much money on his treatment 

a) He was rich and want better treatment from private hospitals 

b) Doctors of the hospital threatened him to pay money 

c) He was admitted in a private hospital 

d) He was admitted in a public hospital 

[1] 

12 ________ does not make any discrimination on the basis of gender. 

a) Court 

b) Judge 

c) Constitution 

d) Parliament 

[1] 

13 What is the telecast rate for a 30 seconds advertisement on a major TV 
channel? 

a) 1.80 lakh 

b) 1.56 lakh 

c) 1.65 lakh 

d) 1.35 crore 

[1] 



 

 

14 In the following ways, media play an important role in democracy except: 

a) Medias information citizen can learn how the government work 

b) The public does not become aware of the fraudulent practices 

c) Media helps in forming an opinion of the masses 

d) Media also announces the opinion of the public about certain issues, 
problem 

[1] 

15 This refers to buying and selling in large quantities. Most products, including 
vegetables, fruits and flowers have such special markets 

a) Retail 

b) Shopkeepers 

c) Wholesale 

d) Sellers 

[1] 

16 Which is the 29th State of India after 2014? 

a) Uttarakhand 

b) Jharkhand 

c) Chhattisgarh 

d) Telangana 

[1] 

17 Assertion (A): Air above us presses us with a great force on our bodies. 
However, we don’t even feel it. 

Reason (R): The air presses us from all directions and our body exerts a 
counter pressure. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

[1] 

18 Assertion (A): Neap tides result in high tides. [1] 



 

 

Reason (R): During the first and last quarter of the moon, the ocean waters get 
drawn in diagonally opposite directions by the gravitational pull of the sun and 
moon. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

19 Assertion (A): Poor families are more likely to fall ill. 

Reason (R): Poor people are undernourished and do not consume enough 
nutritious food. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

[1] 

20 Assertion (A): The government has passed laws that make it mandatory for 
organisations that have more than 30 women employees to provide crèche 
facilities. 

Reason (R): The provision of crèches helps many women to take up 
employment outside the home 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

c) A is true but R is false. 

d) A is false but R is true. 

[1] 

21 Assertion (A): Everything from a phone call to the evening news on TV is 
considered media. 

Reason (R): Media refers to all means of communication, encompassing 
various ways through which we communicate in society. 

a) Both A and R are true and R is the correct explanation of A. 

b) Both A and R are true but R is not the correct explanation of A. 

[1] 



 

 

c) A is true but R is false. 

d) A is false but R is true. 

22 From where the below mention page is taken? 

 

a) Quran 

b) Bible 

c) Bhagavadgita 

d) Mecca 

[1] 

23 

 

Instrument B shown in the above figure is used for 

a) Atmospheric pressure 

b) Rain 

c) Temperature 

d) Wind 

[1] 

24 The Tawarikh was written in ________, the language of the Delhi Sultans. 

a) Persian 

b) Gujari 

c) Hindi 

d) Spanish 

[1] 



 

 

25 When the river tumbles at a steep angle over very hard rocks or down a steep 
valley side it forms a ________. 

a) river fall 

b) ocean fall 

c) sea fall 

d) waterfall 

[1] 

 Section B  

26 Match the items given in Column A correctly with those given in Column B. 
Column A 

1. Ox -  bow lake 

2. Stacks 

3. Glacial moraines 

4. Sand dunes 

Column B 

1. Work of wind 

2. Work of ice 

3. Work of a river 

4. Work of sea waves 

[2] 

27 Do you think the authors of tawarikh would provide information about the 
lives of ordinary men and women? 

[2] 

28 What was the relationship between the mansabdar and the jagir? [2] 

29 There are several saint -  poets whose names have been mentioned but their 
works have not been included in the chapter. Find out more about the language 
in which they composed, whether their compositions were sung, and what 
their compositions were about. 

[2] 

30 How are glacial moraines formed? [2] 

31 How are high tides important? [2] 

32 Why does our society devalue the work women do inside the home? [2] 

33 How has television brought the world closer to us? [2] 

34 Write in brief about shopping complexes and malls. [2] 



 

 

 Section C  

35 The Mughal Empire left its impact on the different regions of the subcontinent 
in a variety of ways. Find out if it had any impact in the city, village or region in 
which you live. 

[3] 

36 In what ways was the history of the Gonds different from that of the Ahoms? 
Were there any similarities? 

[3] 

37 What can be done to improve health situation in our country? [3] 

38 What do you know about census? Give an account of 1961 and 2001 census? [3] 

 Section D  

39 State True or False: 

1. Allauddin Khalji wasa fourteenth -  century traveller from Morocco, 
Africa. 

2. The Marathas fought Guerrilla warfare. 

3. According to the teachings of Buddhas and Jainas, it was possible to 
break the cycle of rebirth through personal effort. 

4. Climate can change from day to day. 

[4] 

40 Fill in the blanks: 

1. ________ was the first mughal emperor. 

2. Each village under Ahom had to send a number of Paiks by ________. 

3. ________media is the earliest form of mass media. 

4. An ________ media is important in a democracy. 

[4] 

41 How do we classify ocean movements? Explain. [4] 

42 Compare public health services with those of private health services. [4] 

43 What do you know about legislative assembly? [4] 

 Section E  

44 Read the text carefully and answer the questions: The students in the class 
discussion researched the topic of nomads and tribes in which they discussed 
the Gond tribe: 

Aman: The Gonds lived in a vast forested region called Gondwana – or 
“country inhabited by Gonds”. They practised shifting cultivation. 

[5] 



 

 

Vishal: The large Gond tribe was further divided into many smaller clans. Each 
clan had its own raja or rai. 

Khushi : About the time that the power of the Delhi Sultans was declining, a 
few large Gond kingdoms were beginning to dominate the smaller Gond chiefs. 
The Akbar Nama, a history of Akbar’s reign, mentions the Gond kingdom of 
Garha Katanga which had 70,000 villages. 

Manju: The administrative system of these kingdoms was becoming 
centralised. The kingdom was divided into garhs. Each Garh was controlled by 
a particular Gond clan. 

Keshav: He presented the given. 

Gond Administration → Grah → Chaurasi (84 Villages) → Barhot (12 Villages) 

This way the students shared their knowledge andthe quite an informative 
discussion. 

1. The Gonds lived in the forested areas of ________. 

2. Which of the following books describes about the history of Akbar’s 
reign? 

  a) Akbar Kitab 

  b) Akbar Raj 

  c) Akbar Nama 

  d) Kitab -   e -   Akbar 

3. The large Gond tribe was divided into smaller clans which had their 
own ________. 

  a) Rajput 

  b) Rai 

  c) Rani 

  d) Rathore 

4. The administrative system became centralised as the kingdom was 
divided into ’________’. 

  a) Garhs 

  b) Gharana 



 

 

  c) Chaurasi 

  d) Barhot 

5. Garha Katanga was a rich state and it was large as it had 70,000 villages. 

 


